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QUESTION 1

You need to calculate the number of days from 1st January 2019 until today.

Dates are stored in the default format of DD-MON-RR.

Which two queries give the required output? (Choose two.)

A. SELECT TO_CHAR(SYSDATE, 'DD-MON-YYYY\\') ?2\W01-JAN-2019\\' FROM DUAL;

B. SELECT ROUND(SYSDATE ?\\'01-JAN-2019\\') FROM DUAL;

C. SELECT ROUND(SYSDATE ?TO_DATE('01/JANUARY/2019\\')) FROM DUAL;

D. SELECT TO_DATE(SYSDATE, 'DD/MONTH/YYYY\\') ?2°01/JANUARY/2019\\' FROM DUAL;
E. SELECT SYSDATE ?TO_DATE(\'01-JANUARY-2019\\') FROM DUAL,;

Correct Answer: CE

QUESTION 2

Which four account management capabilities can be configured using Oracle profiles? (Choose four.)

A. the number of hours for which an account is locked after the configured number of login attempts has been reached
B. the number of days for which an account may be inactive before it is locked

C. the maximum amount of CPU time allowed for a user\\'s sessions before their account is locked

D. the ability to prevent a password from ever being reused

E. the number of password changes required within a period of time before a password can be reused

F. the number of days for which an account is locked after the configured number of login attempts has been reached
G. the maximum number of sessions permitted for a user before the account is locked

Correct Answer. ABEF

QUESTION 3

Which two statements are true about the PMON background process? (Choose two.)

A. It registers database services with all local and remote listeners known to the database instance
B. It frees resources held by abnormally terminated processes

C. It records checkpoint information in the control file
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D. It frees unused temporary segments
E. It kills sessions that exceed idle time
Correct Answer: BE

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14220/process.htm

QUESTION 4

Which three statements are true about views in an Oracle database? (Choose three.)

A. Views can be updated without the need to re-grant privileges on the view

B. Tables in the defining query of a view must always exist in order to create the view

C. The WITH CHECK clause prevents certain rows from being displayed when querying the view

D. Data Manipulation Language (DML) can always be used on views

E. Inserting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error
F. Deleting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error
G. The WITH CHECK clause prevents certain rows from being updated or inserted

Correct Answer: EFG

A is wrong because it should be views can be replaced*** without the need to re-grant privileges on the view. Not
update

G is correct, certain rows cannot be updated or inserted . for example. you try to update the department_id to 100 from

20 but the view was created with a where department id_= 20 or insert a deparment_id other than 20 . it will cause a
ORA-01402 error

QUESTION 5

Which two statements are true about the SET VERIFY ON command? (Choose two.)
A. It can be used only in SQL*Plus

B. It displays values for variables used only in the WHERE clause of a query

C. It can be used in SQL Developer and SQL*Plus

D. It displays values for variables created by the DEFINE command

E. It displays values for variables prefixed with andand

Correct Answer: CD
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